DIvISION WITH A REMAINDER II (H - SET 2)

Drvsioy Name:
Time: Score: J
1903 + 10 = 1) 20668 + 3 =
2 2887+ 10 = 06484 + 3 =
5 9762 = 5 = 18) 37277+ 8 =
H 1127 +5 = ) 2777 +1 =
5 193 = 9 = 200 25929 = 6 =
6) 14831 = 7 = 21) 8816 +— 10 =
N 68735 + 10 = 22) 3234 + 10 =
5 18214 + 10 = 2 1901 =5 =
0 2511 +4 = 20334 +5 =
1040390 =7 = 2) 20022 +5 =
1 92550 = 10 = 26) 206885 = 8 =
12) 6571 = 10 = o1 54802 + 7 =
13) 2750 = 5 = 28) 74325 =10 =
1) 2053 =~ 5 = 29) 6097 -1 =
15 20428 = 10 = 0 23085 +3 =
Mathematics: Division - Level § - Horizontal - Set 2 27 cul
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